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Reactions

Write the formula for the reactants
Predict the products

Balance the resulting equation
State what type of reaction

. magnesium + oxygen —>

2M§ t0, = 1Mgo

aluminum + hydrochloric acid -2

28] + bHU 2 24105 + 34, @

. sodium chlorate =

INa(l0; = 2Nacl + 3g,

zinc chloride + ammonium sulfide =

Zﬂ(,ll + (NH‘})ZS - an(s) + ZNHq-C'[ay

. calcium carbonate =2

Caco, > Cao + Co,
mercury II sulfate + ammo-ni.um nitrate = NK

Hg S04 + NHy NOs =7 Hg (NO;)Z (ag) + NH‘J,_QO‘}(&,

. pentane (CsHj,) + oxygen =2

CeH, + 8, = 5C0, +oty 0

. zinc + sulfuric acid =2

Zn + th S0 InS0s + H,(s)

chlorine + magnesium iodide =

(b ML < Mg T

10. cobalt III hydroxide + nitric acid =

Co(oH); + 3HNG, = (o(NOg), + 3H,0 (o)



Reactions
e Write the formula for the reactants
~ Predict the products
‘Balance the resulting equation
State what type of reaction
Write the net ionic equation

DQ 1. magnesium hydroxide + phosphoric acid =
3 Mﬂ(OH),_ +2H5 POy — My, (Por), l—(oH O (¢)

net 1onic egn = _3M92‘2"6)" o', ) b bt © 200837 (o)~ Mg3(PO+)z(S) + bt 0 (2)

DR 2. iron (II) sulfide + hydrochloric acid =
Fes 21l — Felly + H 5(5)

F;%b)»f $*T (o) ¥ 24 (D)) fz/o\'((%) —3 (yﬂab) r 2/1/‘((%) + HZ_S (3)
netionc egn . S*7ep) + 211 (05) — H,S (s)
DR 3. ammonium sulfide + iron II nitrate =

(NHg),S + Fe (05), —2ZNHNG, © Fes g

ZW@;) t S*(ap) + Feﬂ'(oe)@!’/(cab) - ZMO ¥ 2,/03'/(“) ¥ res(s)

net lonic egn  =p Sz(%) t Fewf"b) —> Fe 5(9
DR 4. barium carbonate + hydrochloric acid 2>

'. Ra 6030)1— ZHC(L — Bally (ap) ¥ Hy0(e) + (0,09
BaC0st) + 2H'ep) ¥ 20 ep) = Ba™>(ap 260y ¢ H,0 () +(0, (9)

netionic egn  B0(03©) + 2H'(e) > Bat2tep) + Hy0(9) ¥ (0, (5)
DR 5. ammonium phosphate + barium hydroxide -

Z(NQ'H)_,, POy (s9) +3Ba (o), () — bNHOH (o) + Bag (POr), (<)

LNW + zpoTS (=s) r 3@all (0%) r/Mﬁz.)—) LN ap) + b (n) + BQS(PO‘.).IIQ
2P0 Tae) 7 380" (*0) =3 Bag (P0r), ¢

neronic egn =



